@vsvnooy

1. 5178A Acrylic part
3. 1203 Cover collar 8 pcs
5. 1003 Nylok nut M6 8 pcs
7. 1211 Rubber washer 6mma8 pcs
9. 1012 Washer 6x22mm 8 pcs
11.1013 Washer 8x17mm 8 pcs
13.1084 8mm nut/screw 8 pcs
15.1206 Rivet nut M8

1 pc

5178 RENAULT PREMIUM PRIVILEGE DXI
FITTING INSTRUCTIONS

2. Main bracket 1 pc
4. 1202 Cover hat 8 pcs
6. 1212 Rubber washer 3mm8 pcs
8. 1065 Screw M6x30mm 8 pcs
10.1004 Nylok nut M8 8 pcs
12.1250 Rubber Washer 30/9 8 pcs
14.1255 Plug 2 pcs

8 pcs (needed if mounted on an older Premieum).

You can find small points on the roof, drill them open and you can find thread for the
14 6

nut/screw.

Osoite/Address
Tehtaankatu 21,
11710 RIHIMAKI
FINLAND

Puhelin/Telephone

+ 358 19 724 000

Telefax

+ 358 19 720 765

Pankki/Bank

OKO 539602-254945

Sampo 800016-70104554 FI09001798




